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PRoO®™ 2,45

X
T = —-d— 9530
Mrn | 6O
530-—-)(
4&‘25%% © 00 —is—— —_—b
CZO‘[-O:WMQB o
3 50/mm .

Llocate WA

(3sox)(£) = (@) 2oUo)(s30-x)

178 x* = 8.(5x10° — [ 320%
1755 + 16,320 ¢ = 8.65x 10

Xz 180 S-mwl,

Moment o€ Twertia

T = 3)(350) 180,54 (8 204 0Y (34, Y2

9
= 2.69 %10 /YMY\I'L
Flexwyral Stvesges

£, = (150)o¥(1s0, s)

2,67 x1p1 1907 MPa_
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2,69% 107 =] 155.4 Mo




PRO®F 2,us
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WF3o X 00 | —rom
(4020 mk) J’
300 mam
Locate N A.
Goor(5) = ()lsoa 20-x)
150 x* IS‘ZIX(O — 36,216 X

1Sox™ + 36,016X = |5 Al X0
X= 21,8 wmm

Moment o6 Tnevrtia :
3 .
Ty={3Ys00Y 21,8 ) +@&020(200.8= 2,57, 17 L8

Flexuweal Stressas

= 2OG" 40 AN m

—

G,= QGO\CIO\"@(? 8)

2.5 x 101 = 14,01 MPo_
160)8¢(00.2Y [Ty
b5 = 2.50 x (01 3 Mra
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20060% ¢+ 4 824 X = (T.78 « 10 ¢
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PROB®F 2, 18

Wsing 3*3¢ bars @OIBMQ\
ARy (Gos)(Eso)
&= "08586b (0.35\(35)(300\: g4 mm
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\ e
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PRoB¥ 2,49
Using 3¥*36 bars (30(8m23

T 0858l b (©.@5Yz8Y(320)
= 1oy e S oY o0 225

prog¥ 250
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Prop¥2.52
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PRORIF 2,59
Using 4¥36 bars (f024mm®)
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PRO®F 2.5 4
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PROB¥2,55

Lsing ¢*32 bars (4914 mm?)
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Prob. 2-56
f.= 4000
b= 16
d= 26.25
A, = 7.59
f, = 60
a= 8.37
M, = 10048
oM, = 753.6
Prob. 2-57

fo= 4000
b= 16
d= 25

A, = 5.06
f, = 60
a= 5.58

M, = 674

oM, = 505.7

Units
psi
in.
in.
in?
ksi
in.

in.-k

kip-ft

Units
psi
in
in.
in?
ksi
in.

in.-k

n ; V ,

kip-ft

Repeat Prob. 2-27 using Chapter 2 Spreadsheet.

|
s L

Repeat Prob. 2-28 using Chapter 2 Spreadsheet.
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PRO®B¥ 2,58\
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erot 280 ()
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Bi= 065 Soc &) >80 os;

e
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